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Energy is extremely important to an ecosystem, but so is the recycling of materials. Why must recycling of materials occur in the biosphere? 

Recycling of materials must occur in the biosphere, because recycling oxygen is extremely important to animals, because they require it. Also carbon is recycled as well, because plants need it to survive.

Summarize what happens during the water cycle, the carbon cycle and the nitrogen cycle.

In the water cycle, Precipitation, Runoff, Seepage, Root Uptake by plants, Transpiration, Evaporation and then Condensation. This repeats on.

The Carbon Cycle also repeats on. The Carbon goes into the atmosphere and gets recycled.

The Nitrogen cycle is recycled from the decompositions

What is meant by a limiting nutrient?

Limiting Nutrient means when an ecosystem is limited by a single nutrient that is scarce or cycles very slowly.
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1.
All of life on Earth exists in a region known as C. The biosphere

2.
Groups of different species that live together in a defined area make up a (an) C. Ecosystem

3.
Autotrophs are organisms that C. Use energy they take up from the environment to convert inorganic molecules into complex organic molecules

4.
The series of steps in which a large fish eats a small fish that has eaten algae is a B. Food Chain

5.
Which of the following organisms is a decomposer C. Bacteria

6.
The total mass of living tissue at each trophic level can be shown in a (an) C. Biomass Pyramid

7.
Nutrients move through an ecosystem in A. Biogeochemical cycles

8.
In the nitrogen cycle, bacteria that live on the roots of plants B. Denitrify nitrogen compounds

9.
Which biogeochemical cycle does NOT involve a stage where the chemical enters the atmosphere? A. The Water Cycle

10.
When an ecosystem is limited by a single nutrient that either is scarce or cycles very slowly, this substance is called a (an) D. Limiting Nutrient

1.
A group of individuals belonging to a single species that live together in a defined area is termed a (an) A. Population

2.
Which of the following is NOT true about matter in the biosphere? C. The total amount of matter decreases over time

3.
Which is a source of energy for Earth's living things? D. Sunlight and Chemical Energy only

4.
In addition to herbivores, another type of consumer is a (an) E. Carnivore, Omnivore, and Detritivore

5.
Human activities, such as burning of fossil fuels, cycle carbon through the carbon cycle. Which other processes also participate in the Carbon cycle? D. Geochemical processes such as the release of gas from volcanoes and Mixed biogeochemical processes such as the formation of fossil fuels only

6.
What is true about the pyramid of numbers? A. First-level consumers compose the greatest number of individuals

7.
What can you conclude based on the two pyramids? A. The producers are probably small, like single-celled algae in a body of water
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What role does climate play in an ecosystem? 

Climate is the average conditions of temperature and precipitation in a particular region.

What causes climate? 

Climate is caused by the interplay of many factors, including the trapping of heat by the atmosphere, the latitude, the transport of heat by winds and ocean currents, and the amount of precipitation that results.

What is the Greenhouse Effect? 

The Greenhouse Effect is the natural situation in which is retained by this layer of greenhouse gases.

If greenhouse gases were not present in the atmosphere, how much colder would the earth be? 

The greenhouse gases are the key to maintaining Earth's temperature range. If it was gone then the range of the temperature would go all over the place.

What is the effect of latitude on climate? 

The effect of latitude on climate is the result of differences in latitude and thus the angle of heating, Earth has three main climate zones: polar, temperature, and tropical.

What is a niche?

A niche is the full range of physical and biological conditions, which an organism lives, and the way in which the organism uses those conditions.
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Athens





Militaristic





Tried to move towards a stronger military/army





Women were inferior, and did not receive as much rights as Spartan women











Sparta





Aristocratic





Tried to move towards a more democratic government





Women had more opportunity, because men were too busy with war








